C€

pid

Mobile electric lifting desk
Operation guide

Before first use

Please read this manual carefully!

Be sure to follow the instructions!
Violation of the operation may result
in dangerous injury!

Please keep this manual!



Please read carefully
Retain important information for further reference

Matters needing attention

In order to avoid damage and injury caused by improper useplease read
this manual carefully before use.

The company does not assume any responsibility for the damage and
human injury caused by the individual's failure to follow the instructions.

Assembly item

If it is used for the first time, please reset it. Please refer to Manual
Controller Operation Guide.

It is recommended to check regularly whether the screw torque of the
product is tightened to ensure safe use.

warning

All parts and packaging should be kept away from children and pets
during assembly, as they may pose a potential hazard of injury and choking.
Keep sharp objects or corrosive chemicals away from the product to prevent
damage. When opening the box, sharp objects should be slowly prohibited to
prevent scratching the product. Do not use in the sun or exposure for a long
time to avoid discoloration.

Parameter information
Input voltage: 100-230AC
Voltage frequency: 50-60HZ
Height range: 750-1200MM
Speed of rise and fall: 22MM/s



Product list

Serial number name diagram quantity
1 desktop 1
2 Table leg :ﬂ] 1
3 Foot of table 1

_/
4 beam 2
5 Bracket arm = 1
A Power supply "“"% 1
B Manual controller © " 00000 1
C pulley °¥’ 4
D Thread buckle @ 8
E 4MM wrench — 1
F M6*12 screws (ot 18
G M6*35 screws
H door mat (<> 4
K Control box = 1

%

4MM power tools




B
Step 1: Install the beam

@ Be careful to distinguish the beam mounting holes
@ With 4MM wrench (E), assemble the table leg (2) and beam (4) with M6*12(F).

o —

X1

4 =

XZ@ E
E

X1 | ——

F

xa| (=

Step 2: Install the table feet

@ Tool 4MM wrench (E), use M6*35 screws (G) to assemble the foot (3) and leg (2)
@ Install the pulley (C) on the foot of the table, taking care to distinguish between brake
and no-brake mounting positions.

3 C No brake @G
—= No brake
X1 l spanner/
E | ——
X1
G
> P




Step 3: Bracket installatione

® Tool 4AMM wrench (E), use M6*12 screws (F) to assemble the bracket (5).

@ Warning: Pay attention to the mounting direction of the bracket arm.
One point should be stuck in the positioning slot.

5 S — —
X1

E
X1

F

Step 5: Install the panel

@ Tool 4MM wrench (E), use M6*12 screws (F)to assemble the shelf and panel (1).

® Tool 4MM wrench (E), use M6*12 screws (F)to fix the hand controller (B) on the panel,
as shown in the figure

® Tool 4AMM wrench (E), fasten the control box (K) to the panel with M6*12 screws (F),
as shown in the figure.

L]
X1

XB1
E
X1 °




Step 6: Secure the wiring harness

@ Use the wire card (D), remove the surface protective film, paste the wire card to the panel,
fix the excess wire harness,

xDs @

& 7

Step 7: Electric control system assembly

@ Note: Be sure to insert the power cable and fasten the safety buckle,
insert the RJ45 terminal, and insert the motor cable. Use electricity.




DISPLAYNSTRUCTIONS

69 00000)

IMPORTANT You must RESET the desk prior to use.

Method 1: Press and hold “/A” and “\/” buttons on the handset at the
RESET Setting same time for seconds until you hear the beep. Release the

buttons. The desk will goes automatically until it shows 69, and the
reset is successful.

Height Adjustment| Up: Press Up “/A” Down: Press Down “V”

Switch Display Press 2 times“V”when the desk at the lowest position to switch cm to inch.

Press and hold any of memory buttons (1,2,3 or 4) until you hear a
beep.Release the button, and this position height will be stored in
memory.

When the working height of memory needs to be used, press the memory
position button and the desk will automatically adjust to the memory
height.

Note:This standing desk has 4 different height memories. The memory
positions stored are still valid after power off. You can use the up and
down buttons to adjust the standing desk to the height you need to work.

Memory Height

Troubleshooting Guide:
If your standing desk does not work properly, you may need to reset it. If any error codes
appears, you need to reset it.

Maintenance and Consideration:

1. During daily maintenance, use a clean soft cloth to remove surface dust. Do not use a wet
cloth or hard material to wipe the surface of the table.

Avoid contacting the surface with acid-based chemicals.

2. For slight scratches, gently wipe with a soft cloth, you can smooth out scratches.

Avoid attaching tape directly to the outer surface of the metalfeet to prevent paint from peeling



